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QUESTION 1

Given the following HBase dataset, which is labeled with row numbers. . .

Row # ROW KEY COLUMN+CELL 1 BB002 Column=Comments:C_Author, timestamp=001, value=Diana Mears 2
BB002 Column=Comments:C_Title, timestamp=001, value=Thanks 3 BB0O01 Column=INFO:Title, timestamp=005,
value=HBsase+Hadoop 4 BB001 Column=INFO:Author,timestamp=005,value=Lars George 5 BB002
Column=Comments:C_Text, timestamp=001, value=Any tips on ... 6 BBO01 Column=INFO:Text, timestamp=005,
value=Some of the ...

Which of the following lists of row numbers is the correct order that HBase would store this data?

A.1,5/2,4,3,6

B.4,1,2,6,3,5

C.4,6,3,1,5,2

D.3,4,6,1,2,5

Correct Answer: C

QUESTION 2

You have two standbys and one primary HMaster. Your primary HMaster fails. Which of the remaining HMasters
becomes the new primary?

A. Whichever HMaster first responds to ZooKeeper
B. Whichever HMasterZooKeeper randomly selects
C. Whichever HMastercreates the znode first

D. Whichever HMaster has the lower IP address

Correct Answer: A

QUESTION 3

You have 40 Web servers producing timeseries data from Web traffic logs. You want to attain high write throughput for
storing this data in an HBase table. Which of these should you choose for a row key to maximize your write throughput?

A.
B.:
C.
D.

Correct Answer: C
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QUESTION 4

You have a table with 5 TB of data, 10 RegionServers, and a region size of 256MB. You want to continue with puts to
widely disbursed row ids in your table. Which of the following will improve write performance?

A. Increase your buffer cachein theRegionServers
B. Increase the number of RegionServers to 15
C. Decrease your number of RegionServersto 5
D. Decreaseyour regionsize to 128MB

Correct Answer: C

QUESTION 5

You have tin linage table live in production. The table users as the rowkey. You want to change the existing rowkeys to .
Which of the following should you do?

A. Modify the client application to write to both the old table and a new table while migrating the old data separately
B. Use theALTERtable command to modify the rowkeys

C. Use theASSIGNcommand to modify the rowkeys

D. Add a new columnto store the userid

Correct Answer: B
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